MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

(GCF-14, GCF-15, GCF-16, GCF-17 & GCF-17-A, VCF-3, VDCF-3)
DATE: 28.05.2023 MAXIMUM MARKS: 100 TIMING: 2 Hours

BUSINESS MATHEMATICS, REASONING & STATISTICS

1. Ans. c
Explanation:
oc, 10

76, 21

2. Ans. c
Explanation:
P=2
P=2(1-P)
P=2-2P
3P=2
P=2/3

1

3

502\ (1Y
C — —_
)
_80

243

3. Ans. a
Explanation:

A=l A =
5

gl

4. Ans. c
Explanation:

X P PX
1/3 1/3
1/3 2/3
1/3 3/3

WIN|—

Il Wl
wlo +
wI|N
+
wlw

I
N

5. Ans. b
Explanation:

16

4 0 4:_
c P4 ]
ER
3 3
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

4 0
(J(E-4
“\3 3 81
6. Ans. d
Explanation:

e—330 e—331 e—332
a 1 2

m =150 x 2 _ 3 p(morethan2)=1-
100

330 33 7332
o 1 2

=1- =0.58

7. Ans. c
Explanation :
$(a) &=her AT HRa1 8 —%©To a

8. Ans. b
Explanation:

log(a +Va? + 1) + log(a +Va? + 1)_1
log(a +Va? + 1) - log(a +Va? + 1)
0

9. Ans. d
Explanation:

E(x—g)? T E[x—E(X)]* <H & faeror 21

10. Ans. a
Explanation:
32 0
Largest angle = EXSGO =128

Smallest angle

% « 360 = 68°
Difference = 60°

11. Ans. c
Explanation:

n YOSl & 94 dTel Teb ggqol § fdoll ®1 e
n n(n_3)
=C2-n=—

2
12, Ans. b
Explanation:
Here, we have an A.P. with a = 3,00,000 d= 10,000
And n = 20
Using the sum formula , we get,
20
Sy = 7 =[6,00,000 +19X10,000]
= 79,00,000
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

13.

14.

15.

16.

17.

Ans. b
Explanation:

a=3, =1

s, ad-r’)
1-r

3060 M on
512 1

3069 _, 1
072 2
11

2" 1024
n=10

Ans. c
Explanation:
a=132, =468
| =a+(n-1)d

468 =132 + (n-1)(12)

n =29

n
Sn=—(a+l
, @+

Sy9 = % (132 + 468) = 8700

Ans. c
Explanation:

Grade I

Grade II

Plant A | 6

3

<120

Plant B | 4

10

<180

6x +3y < 120
4x +10y < 180

Ans. c
Explanation:

AXB ={(24),(25),34),35)}

BXC ={(4,5),(4,6)(55)(56) }
(AXB)U (B XC) ={(24), (2,5) ,(3,4),(3,5), (4,5),(4,6)(5,5)(5,6) }

Ans. c
Explanation:

A=P l+L
)

3|Page



MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

18.

19.

20.

21.

22.

BDp_pas+ Ly
16 100
5 r.,
— =1+ —
) -t
5 r

— =14+ —

4 100

r= 25%
Ans. d
Explanation:

First part = x , second part = 2600-x

Xx3x5 (2600 —x)x6x4

100 100
15x = 62,400-24x
39x = 62,400
X =1,600

Second part = 2,600 - 1,600
= Rs. 1,000

Ans. c
Explanation:

5 n
A=Pl+—
100
i3
20
E_(Qj"
A 21

Ans. a
Explanation:

log®+log?+log ¢ = log

z

(abo)) _
log, =log;
Z =abc

Ans. a
Explanation:

I oI = L
-9
0.07 - 0.05
Ans. b
Explanation:

1!
No. of such ways =M

3000
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

ol
2

23. Ans. a
Explanation:
If (b+c), (c+a),(a+b) are in A.p.
Then 2(c+a) = b+c+a+b

2b = a+c
24, Ans. c
Explanation:
npr =r! ncr
2880 =r! X 120
rl =24
r=4
25, Ans. d
Explanation:
fog(x) = flg(x)]
= f[2x-3]
= (2x-3)%+3(2x-3)+1
= 4x%-6x+1

fog(-1) = 4+6+1 = 11

26. Ans. d
Explanation:

n faffr=T Aot 599 9 r &7 U IR foram ST A1 pEEl & ST AH e a9y O Bl
W 9ol 9 =
AR BT FE&T = pg

27. Ans. c
Explanation

/\mm/j@

v\J\J

28. Ans. b
Explanation:
119
STSTRUM = 7 = 17
1234567
STEP = @ =15
4
1234
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

29. Ans. d
Explanation:
STUDENT

30. Ans. a
Explanation:
AMNESTY
BRIGADE

NMAEYTS
IRBGEDA

31. Ans. b
Explanation:

" -3,1,2
gch X+3,X—-1,Xx-2

I FHIBIT (X +3) (Xx—1) (x—2)=0

T x3—7x+6=0

32. Ans. C
Explanation:
Let the total Capital be Rs. X

Then (éxlxlj+(§xixl +
3 100 4 100
X = 6600
33. Ans. a
Explanation:
A = B[(1+ r)" —1]
r
6000
= ——[(1+0.09)® -1
0.00 [( ) 1]
= Rs. 66170.84
34. Ans. a
Explanation:
qgel Eggzl'\s EIN
A = 3x A=27x
P=x P
n==~6 =X
;P n=">2
3x=x{l+—}
100
r 6
3:{1+—}
100 (3)° :[

—x—x1|=561
12 100
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

18 n
14— | =1+ ] =n=18
100 100

35. Ans. b
Explanation:
By formula
nAuvBuUC)=n(A)+nB)+n(C)—-n(AnB)-n(BNC)-n(AnNC)+n(AnBnNC)

92% =42% + 51% + 68% - 30% - 28% - 36% + n(AnBNC)
n(ANnBNC)=25%

U UF UgH dial Afdddl T gfaerd
= 1% + 18% + 29% = 48%

36. Ans. D
Explanation:
(a,a), (b,b), (c,c) ER 3 R FAJT T+ ¥ |
« (a,b) ER and (b,a) & R 37T FAMT TH Tl T |
» (a,b), (b,c) ER AT (a,c) & R3IT: R HshMHdb T Tl 2 |

37. Ans. a
Explanation:
n(A—-B) =n(A) —n(ANnB)
47 =115 — n(A N B)
n(ANB) = 68
n(AUB) =n(A) + n(B) —n(AnB)
=115+ 326 - 68 = 373

38. Ans. a
Explanation:
' EREREISIGIN
Declining Balance Depreciation Rate = 1 - (Salvage Value / Cost)”(1/Years)
Rearrange
Salvage value
Salvage value

= Cost x (1 - Depreciation rate)”Years
= 10000 x (1 - 10%)~10 = 3,486.78
39. Ans. b

Explanation:

16000[(1 + 5%)3 - 1] = 2522
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

40. Ans. b
Explanation:

el Yed ' x 2 - 2.
3T 48 TTold © T4 S9dT AR (26 X 2 - 2) i.e. 50 ¥ BT ® |

41. Ans. d
Explanation:

URAIER AT a9 IR 8 <@ AP © (&b I1h H Al 99 & TRb <@ 8T 2 |

D

A

B E
42, Ans. c
Explanation:
T BT IHITS TA 2 |
1 2 3 4 5 6 7
Y U
1 2 3 4 5 6 7
T Y W U
1 2 3 4 5 6 7
T Z Y W | U
1 2 3 4 5 6 7
T Z Y X W U
1 2 3 4 5 6 7
T Z V Y X W U
43, Ans. d
Explanation:
g, A
P—Q—>s
44, Ans. d
Explanation:
Gfs X T Y Sl Z A BIC E, o1 X AATY, Z & 9 A1 91 8 | IfF Y, Z &I 971 98 §,
A Y, Z B I 2|
45, Ans. a
Explanation: .
TP qU1 & ol U AT & TR B, 31 Sad BIe BT SWHA IR TR,
M=7
0=2
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

L=4
E=9
K=5

So, the code for MOLEK is 7 2 4 9 5.

46. Ans. c
Explanation:
f&am a1 © 9gas — Wed = 63
i B9 A & AT, AIfAdT dT dgad & dra {1 Fwee 8l & |
gl — HEd = 3 (ATegdhl — HeA)

mﬁmm—mw:§=21

47. Ans. a
Explanation:

b,, =§xbyx

= _—Sx—l.Z =1.8
2

48. Ans. ¢

Explanation:
5
np —npq = ¢
1 2
P=34=3

5
Distribution is (§+ g)

49, Ans. b
Explanation:

e YW I e g A r 1A= + - 1 gar 2

50. Ans. a
Explanation:

X Ry B FRAT B1 gefloTmT @ &1 FHaer y—y=h,, (x—X)
37T y—8.8=1.24(x—5.5)
= y=1.24x+1.98

51. Ans. c
Explanation:
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

52. Ans. c
Explanation:

} WA > E

53. Ans. c
Explanation:

I I I I I
> D T B Vv

54. Ans. d
Explanation:

55. Ans. d
Explanation:

Father ——  Uncle ———  Daughter

Girl Son

56. Ans. c
Explanation:

B
/ \ Brother

"A——C—>D"

57. Ans. a
Explanation:

el B T T oI 2 Rifs ST H e dAerr uRafad g 2 |

58. Ans. b
Explanation:

Ife g AR W AT fB O ga WHel B gER Afd AT WA gRT AN H for
ST ® A fgdliae He PN ¢ |
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

59. Ans. b
Explanation:
IRER JYTeli G0 3§ AHRIG: |adq o) 9gad e ¢ |

60. Ans. C
Explanation:
0-10 | 15
10-20 | 23
20-30 | 27 | SO=19+16=35
30-40 | 19
40-50 | 16

61. Ans. a
Explanation:

>_<:A+&
n

62. Ans. c
Explanation:

NeWMean=i NewMean:i+10
(04 (04

63. Ans. d
Explanation:
25000 — n, x27000 +n, x17000

n, +n, SO n, =80% n, =20%

64. Ans. b
Explanation:

Kx+10Ky - x+10y
—_— XCom=————
11K 11

xCOMm =

65. Ans. b
Explanation:

IfE gAfded & ford A= Sl & MR & oS} & o) Iugad d agetd 8 |

66. Ans. a
Explanation:

15+25 range 10 _

=20 SD= S
2

67. Ans. a
Explanation:
52, 56, 68, 70, 75, 80, 82
Median = 70
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

68.

69.

70.

X |X-
M|
52 |18
56 | 14
68 |2
70 |0
75 |5
80 |10
82 |12
61

M D:%:8.71428

MD Coefficient = 8.71428

x100

Ans. b

Explanation:

40 x 100 = 4000-50+40 = 3990 = 39.90
100

% =39.90
>x’
n
> x?
100
Ex? = 162601-2500+1600 = 161701

\/161701
O' =

_;)2

O =

5.1= —1600

—-1592.01

o=5

Ans. a
Explanation:

A=2 A3 B=— B=—
5 5
AB + BA

2,3 7053 so °,2_2r
5710 5 50 50 50

Ans. a
Explanation:
13 12 1

_— X — =
52 51 17
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MITTAL COMMERCE CLASSES

CA FOUNDATION- MOCK TEST

71.

72.

73.

74.

75.

Ans. b
Explanation :

¥d® =33

Cor. xd?> = 33 - (7)®> + (9)®> = 65
6 x 65

Corrp =1~ 590

=0.61

Ans. d
Explanation:

ZplqO Zplch
Py; = ’ =—x100 = 94.88
01 ZPOQO XZPOCM X

Ans. d
Explanation:

Money wage “
Price Index
Money Wage

(215 xlOOj
120

.. Money Wage = %x1680=3010 Rs.

Using Formula : Real wage = 100

=1680= %100

.. Loss of worker = 3010 - 3000 = 10 Rs.

Ans. b
Explanation:
O
Ans. ¢ N
Explanation:
) 12 I
W< » E
3 l
h 10 S
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CA FOUNDATION- MOCK TEST

76. Ans. c
Explanation:
26

77. Ans. d
Explanation:
XC

78. Ans. a
Explanation:

AR & ¥ &9 9 W Igeedl @ Ugdui doFl B UeRid dRe H Ui 49

TRGIHROT HT UG ARIH B |

79. Ans. d
Explanation:

A FHBT & g H O AAD GAHS Tl BB FINHD 8l Al JUIR Aed TR

BT |

80. Ans. a
Explanation:
ox=3

y=5-2X
2
=—)(3=6
oy 1
vy =36

81. Ans. c
Explanation:

de2=250 n=10

x=50

0':1/@ =5
10

C.V.:ix 100 =10
30

82. Ans. a
Explanation:
5X+7y—-22=0

6Xx+2y—22=0

10
r=|=—
42

byx=—
y 7
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85.

MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

10
= x4/15
S 42

_E__ Ve oXx=264 6
7 o X

2
bxy = —=
y 6

83. Ans. b
Explanation:
byx = 0.80

L
-3

byx = 9 xbuv
p
-5

080=—2- xbuwv  buv=0.1066
3

84. Ans. d
Explanation:
np=3
npgq=1.5
30=2.25
225

3 q=0.75, p=0.75 son =12

Ans. b
Explanation:

Mean = 6 x 1:3

SD:1/6><E><1 =122
2 2

Ans. b
Explanation:
n p—E
3
2nc2 p2 qn—2: nc3 p3qn—3
2x nl B n!
2in-21 17 3in-a’
a _ P
n-2 6
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CA FOUNDATION- MOCK TEST

6g=np-2p

18q=10-6p
18-18 p=10-6p
12p =8

o
|
wlk

5
X

|
a WIN wN
|
H
00|o 0o

S
Il

ol
&
VR
wlN
N—
o
7\
Wl

1 2 10 x 4
¥ + 5 x§ + T
1+10+40 ﬁ _ i _E
3 3 243 81
87. Ans. c
Explanation:

J' dx :J- dx
x?+2x-3 I x*+2x+1-4
_ I dx

(X% +1)% — 22

j dx =ilog[—x_a)+c
"Ix?*-a? 2a X+a

88. Ans. b
Explanation:
Ts=a+4d =14 ................. ()
T12 =a+11d =35 ............. (ll)
On solving equation (i) and (ii)
a=2

89. Ans. d
Explanation:

s = ».n(n+1)
Sn= Y n*+>n

Jrs(3) (5=
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

n(n +1)(2n +1) N n(n+1)
6 2

_n(n+)(n+2)

3

n=

90. Ans. d
Explanation:

A= ?:[(1+ " —1]

796870 = Oil[(1+ 0.1 —1]
R= 50,000

91. Ans. c

Explanation:
log(1+2+3) = log6
log(1X2X3)
logl+log2+log3

92. Ans. a
Explanation:

A_2 B_1
B 3'C 4
A:B:C=2:3:12

A's share = Rs. 510 x % =Rs. 60

93. Ans.d
Explanation:

AR &

=A(l+i)™" =10000/ (1+0.025)*
=10000/ (1.025)*

=10000/ (1.1038)

= Rs.9059.50

94. Ans. a
Explanation:

a2t AN, i) = 2000, i=— O —0005,n=24
100 x 12

O Ud Jel & 3d § A U 9T dRIY O B |
S et @ 9l g1 A(n, 1) = A

{(1+i_)” —1} . 2000 A{(no.oos)“ —1} _ A{(l.OOS)“ —1}
i 0.005 0.005
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

2000 % 0.005
A=
(1.005)% 1
A__ 10 10
11272-1  0.1272

= 78.61 v

95. Ans. b

Explanation:

rt
g = P&
100

_ pxrx25

3
-P
8 400

r=6%

96. Ans. d
Explanation:

IS Al B AT = 41x3! = 144

97. Ans.c
Explanation:

el XY qAR-T 1 Fepdl € 110,

G B & DR 7 XM & - ST Fehedl § |
3 A9 =10, —7, +1

= 25

98. Ans. c
n n (SXEJ
. (24353 (FPx3 g g g
It =

9" x 3L - (32 )n 301 320, 3n-1 - 320, gn-1

2n+1 3n+1
_ 3n+( n+1) A, 3( n+l) _ 3(3n+1)—(3n71) — 32 =0

32n+n-1 - 3(3n—1)

99. Ans. b
Explanation:

AT b A AU T 81 ar
x> -y, x—y, T

X2y ix—yux-y:T
(x=y)* =(x*=y*)xT

(x-y)*
Xy =T
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100.

Ans. c
Explanation:

x+§=\/§ (@ T W)

Xk
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